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Phase 1

Phase 1
Initially ALL Valves A, B, C, D, E and F are closed.

 ALL Tanks A, B, C, D, E are separated and each sealed from the atmosphere.

Tank E initially has 3’ of air @ 40 psi

Tank C and Tank B initially contain air @ 32.476 psi

Pipe K is 12” id; initial air pressure is 32.476 psi
Phase 2

Valve D is opened 1st
Valve F is opened 2nd
Valve E,A and B is opened 3rd
Valve C remains closed.

1. What happens to the air in Tank C?

2. What happens to the air in Tank E?

3. How does the air and water change in Tank A?
4. What changes in Tank B?      Does air or water move between Tube B section F and G?                        
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Pipe K 12"id @32.476psi

Tank ¢
250 ft3 alr
@®32.476 psi

Valve E16”1d

Tank A 20,000 ft3 clear water

Valve 812" id

TANK B 135,000 3 Air @ 32.476 psi
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TANK  D





													


Valve B 12”id








TANK B


  Air @ 32.476 psi          


Total Capacity 126,000 Cubic feet																																																									SECTION F														                        Valve D 24” id																				





SECTION G





15’





Tank E





Valve F 24” id





Initially air is in equilibrium with water with Valve D open








